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nal centre of 'ALl YAVER JUNG

regio for the

NATIONAL INSTITUT!DN
Hearing Handicapped. Mumbal” :

(A) olkata

(B) Chandigarh

(C) New pelhi

(D) Bhuvaneshwar .
Among the following which one IS not
special achievement test —

(A) Diagnostic test

(B) Analogy test

(C) Skill test

Q})/ Language test

some students are backward in
studies. What will be your attitude
towards them?

(A) Harsh .

(B) Sympathetic /~

(C) LUberal .

(lg)/l-/ﬂvable

For harmonious development of the

Personality of the child, Parents
should -

(A) Overprotect the child

(B) Regularly compare the child with
other children
(Q)

rovide appropriate
environment at home

(D) Engage with qualified teachers
Which of the following is a Teacher-
related factor affecting learning?

(A) Proper seating arrangement

(B) Availability of teaching-learnin
resources

(C) ure of the content or learni
experience

(D) Mastery over the subje
matter

B
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12. What are the main successive step
saf

Motivational Cycle?
(B) Drive

/ (A) Need
chntive (D) Al the abave
13. aget's first stage of cognitive

development 15 concerned with the
conquest”on -
( Object
\ (B) Reasoning

(C) Symbol
(D) Allthe above

14, Which of the following is not 3 source
of Informal Education?

(A) Education given by parents

Mcation through classroom
teaching

(C) Education by peer groups

(D) Education given by neighbours
15. Concept of ngducation for Equallty" was

highlighted by -

(A) Rpadhakrishnan Commission

(B) tAudaliar Cammission
(<) Kothan Commission
Q;/))-/Nationai education rolicy - 19B¢

ie. 1f \earners individu

differences, the teacher should-
(A rovide 3 variety of \earn
experiences

(B) enforce strict discipliine

(C) increase number of tests

(D) insist on uniform
learning

The concept Of intelligence Q
(1.Q.) was at first used by -
(A) Skjaner (8) Term

( Binet ([C)DE
18. "Theory of Expenmen al Lean

given by - -
( ri Rogers (-
(B) Piagel

(C) Sigmund Freud

(D) Skinner
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19.

20.

21.

22.

23‘

24,
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Quality of School Education

depends heavily on -

(A) Infrastructural facilities

(B) Financial provisions

(C) International support

(“Q/Quality of Teacher Education
ccording to Gagne the highest level

of learning condition js -

(A) Principle learning condition

(B) Problem solving learning
condition

(C) Bignal learning condition
D)/ﬁone of the above

"Motivation js the Super highway to
learning"” this statement is given by-

( omson

é)‘rg;od

(C) Skinner 7L

(D) Bemard
Parents should -

(A)  monitor children's work
(B) arra nge for Tutiong
EC)/ﬁﬂodically discuss the

Progress
of their chilg
(D) not interfere in  schog|
activities
Ability to Féverse" is not the quality of
Which state

(A) Sensory motor stage

B Pre-operational stage

(C) Concrete Operational stage
(D) Formal Operational stage

Which of the following options is not

included by Education Commission in it
Suggestions for Pillars of

Education, given by UNESCO ip

Education for 21st Century™?
%\)/i?a}m to eamn
(B) Learn to know

(C) Leamn to live together
(D) Leamnto do SOmething
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25. Level of
depends on -
(A) high salaries
(B) officer like status

() p fessional training
(‘D)Aummitment towards puplls and
profession

26. Which of the following environmental
factors affects the personality?
(A) Soclal factors

) (B) Cultural factors
(C) Emotional factors

t%/ﬁl options are right
27. hich of the following statement IS not

correct?
(A) Growth and Development are two
different aspects
(_a.)/Grnwth continues throughout life
\ (C) Growth is one of the parts of
development
(D) Developmentis2 continuaus process
58, Identify the type of Intelligence which
js not related to Gardener's Theory of
Multiple Intelligence -
A luid Intelligence
\ (B) Spatial.lnr.emgence
(C) Linguiskic Intelligence
(D) Musical intelligence
29. I1dentify the person to whom most

teacher

historians trace the propounder of
Special Education:
C1 (A) Jean Marc Gaspard Itard

(B) Edw Seguin
. (M::ﬂontessur\
(D) None of the above
30. In which year, the UN Conventior

the Rights of Persons \
Disabilities was held ?

\ (A) 13 December 2004

(B) 13 December 2005
()13 December 2006
(D) 13 December 2007




31.

32. We said to

33.

[First Language - English

APP -

Read the sentence and choose the

correct alternative.
'"The secretary and
absent' -

(A) One person |
the secretary and treasurer

yA‘Jne person is having the post of
the secretary and the other

person is having the post of

treasurer is

s having the post of

treasurer
(C) No Person holds any post
(D) Allare correct
them, "who has

misguided you?" Choose the correct

alternative out of the following.

(p) We <aid to them who
misguided them

y‘le asked them who had
misguided them.

(c) we told them by whom they had

been misguided.
(D) We asked them If they had

misguided them.
If I had a degree, I could get a job
easily. Conditional of this type says-
(A) something did not happen
pecause a certain condition was

not fulfilled.

W something will happen if a

certain condition is fulfilled.

(C) that the condition will be

®

fulfilled.

When we tz

proud

Direction (Q. No. 34 to 37) : payy
the instructions given below ang
answer the questions that follow by
selecting the most appropriate option
out of the four alternatives available,

On his first day In office, as
pPresident Abraham  Lincolon
entered to give his inaugural
ood up. He was a

address, one man st
"Mr, Lincolon,

rich aristocrat. He sald,
uld not forget that your father
used to make shoes for my family". And
the whole Senate laughed; they

thought they had made & fool of
t certain people are made

you sho

Lincolon. Bu
a totally different mettle. Lincolon
the eye

of
looked at the man directly in

and said, "Sir, I know that my father

used to make shoes for your family, and

there will be many others here, because
he made shoes the way nobody else

can. Hewas a €
not just shoes;

reator. His shoes were
he poured his whole

soul into them. T want o ask you, have
you any complaint? Because 1 know how
to make shoes myself. 1f you have any
complaint I can make you another pair
of shoes. But as far as 1 know,
nobody has ever complained about m»
father's shoes. He was a genius, a grex
creator and I am proud of my fathe:
The whole Senate was struck dum
They could not understand what ki

of man Abraham Lincolon was. He\

T
’ -:.-l. bl |

use his father did his jo!

e L e




had ever been heard.

34. The word from the passage which
means -

‘quality of determination to do
Something successfully' s -

(A) Genius

(B) Mettle

(\CVCreator

(D) Complaint

A rich aristocrat talked of Lincolon's
father to make him feg|-

(A) VEry proud

(B) very glad

C)~ much ashamed

D) frightened

35,

36.

(A)  he made very

fine shoes
(B) his shoes last

ed long
(C) he Put life into his shoes
ME never had any complaint
against his shoes

37. Lincolon showed that he was -
@)/;pmud man

(B) anunusual man
(C) an obedient son
(D) a shameless son
Direction (Q. No. 38 to 41) : Read the
poem carefully and select the most
appropriate option from the alternatives
given.
In the deep kingdom underground
There is no light and little sound
Down below the earth's greenfioor
The rabbit and the mole explore.
The quarrying ants run to and fro
To make their populous empires grow.

APP-1

Do they, as I pass overhead
Stop in their work to bear me tread?
Some creatures sieep and do not toil
Secure and warm beneath the soil
Sometimes a fork or spade intrudes
Upon their earthly solitudes,
Downward the branching tree roots

spread

Into the country of the dead.

Deep down, the buried rocks and
stones

Are like the earth's gigantic bones.

In the dark kingdom underground

How many marvellous things are

found.
3B. The kingdom underground |
(A) noisy
(B) active
(C) lazy
D

none of the above

39. Thereis underground.

(Mo light and little sound
(B) Light and sound
(€) nolight

(D) only light and no sound

40. Man often disturbs the underground

world with___ .

(A) implements and tools
(B) onlyimplements




41. Deepdown, the buried rocks and
stones

Are like the earth's gigantic DONES:
The figure of speech is used in the

above mentioned lines :

(A) Metaphor
(B) Personification
(C) Hyperbole
(D) Simile
42. The statement ‘Language IS culture-

preserving and culture-transmltting' Is-

(A) false statement

(B) partially false statement

(C) true statement
(D) AAartially true statement

a3. A school or class to prepare

children aged five is called -
( gature

(B) Kindergarten
(C) Kelplormaria
(D) Primary school
44. A child speaksIn the beginning -

(A) consonant sounds
(B)~dipthongs
(C) tripthongs
(D) vowel sounds
45. Which of the pronunciation drills is the

excellent ~means of forming
correct speech?
o
\ (8 intonation
(C) habits
(D) skills

sy [13)

APP -]
46. A child Is composing a poem with the
help of a picture drawn on the black-

board. The child Is using -

(A) understanding based skill

(B) knowledge based skill

(C) ychomotor skill

(Y application based skill

ere are four teachers in 2 Primary

Schoel. One of the teachers is on

Government duty, One Is on leave due

to sickness, the third one has been on

medical leave. There are five classes

consisting 79 students. Which device

will the teacher apply in this situation

to handle the students?

(A) The teacher will provide home
work to the students

(B) The teacher will make the
students play throughout the day

(C) The teacher will instruct the
students to do self study

(D) e teacher will apply the multi-
grade-teaching device

48. Rearrange the following words and

phrases to form a meaningful
sentence. Choose the correclt

alternative sentence :
of |and| clouds | information | weather

| send | satellites | and pictures |

storms
(A) Information and pictures send

weather, clouds and storms

satellites.
(B) pictures, storms and clouds

information send weather.

Satellites Iinformation send

weather, pictures, storms and

clopes.

(D atellites send information and
pictures of weather, clouds and
storms.

4?.

(€)

P.T.0.




49. Unit test is an expression of -
(A) normative
(B) ective
formative
(D) cognitive
50. "Poetry is a statement whose soul is
rasa”. This definition has been given by-
(A) Mathew Arnold
(B) Panditraj Jagannath
(C)” Acharya Vishwanath
(D) S.T.Coleridge
51. The word 'agriculturalist’ has -

(A) Five syllables
(B) Foursyallables

(;)/seven syllables
( Six syllables
52, The statement 'Stress is the Intensity

‘czp?mlnence glven to a syllable’ Is -
true

(B) untrue
(C) partially true
(D) none of the above
53.  Phonologically the number of semivowels
in english is -
(A) 1
(B) 2

()
w/;

54. "Amorpheme is the smallest unit of form

that has meaning in a given language"
is -

- (B)

v rore Dbl SN

¢

59,

56.

57.

58,

59.

APP-1

‘A person who believes that God Is
everything and everything is God' is
called:

(A) agnostic

(Meyzst

(C) pantheist

(D) pagan

'A man who eats human beings' is called-
(A) criminal

(B) men-eater

(C) beast

(D) nnibal

To-fook down upon is meant for -
(A) to look front

(B) to look down

{C;_)/t{ treat with contempt
(D) to look at

In the following one of the wards Is

misspelt. Choose the wrongly spely
word.

(A) procession

(B) performance

(C) allied

(Mlsm

'In order to get success, the boss has

left no stone unturned' can be replaced

with the words or phrase-

(A) went to the mountains

\B)Aried every possible course of
action

(C) went to the sea shore

(D) did not try anything

60. Choose one of the correct alternatives

in the following underiined words.
(A) article
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91.

92.

problem ©

(A)

93.

Which of the following is the major

f teaching Mathematics?

ching methods of

Mathematics teacher

(B) Ability to use Mathematical tools.

(C) Class Room operations

(D) Knowledge of teaching

methods
In an inclusive Mathematics classroom,

what would be your strategy for

addressing the needs of visually
challenged learners?

(A) send the learners to special

educator
alternate teaching
learning and assessment methods

(8)

esign

(C) Offer them another subject in lieu
of Mathematics

(D) Pair them with high scorers in

mathematics

A very common error observed in
addition of linear expression as
6x+2=8x; this type of error is termed

as -

(A) Clerical error
(B)

rocedural error

(€) Conceptual error

P.TA
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(A) 15
(B) 14
C) 12

(D) 10
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94. Multiplicative inverse of a negative

95,

96.

oo T

- mieem® a3 :l—_Ik'h”;

rational number Is-

M positive rational number

(B) anegative rational number

() 0
(D) 1

1
One frult salad recipe requires 5 cup

of sugar. Another recipe for the same

fruit salad requires 2 tablespoons of sugar.

I 1 tablespoan is equivalent to %6

how much more sugar does the first
recipe require?

5
(B) 16 CuP

cup,

3
(C) g cup

7
(D) 16 CUP

The range of the data 9, 8, 4,3,2,1,

6,4,8, 10,12,15,4,3is-

(A) 15
(B~ 14 %}
@ 12 P ek
(©) 10 ) ."'-’"w ;
‘2“
\

_- .
IR
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97. wm.ﬁ@mﬂmm
?.ﬁmﬂaﬁﬁmﬁwmsm
= @ g R
(A) T3 3
® T
() ¥aa i
D) rm Fod
' 98. Wﬂf“ﬁﬂmtnﬂﬁ?ﬂﬂ%ﬂ(ﬁm
?\%#@Taﬁmﬁﬁﬂmﬁmm
T &
& 10°
® 10%°
© 10"
| ©) 10¥

(A) A B C
= () B CA
(C) CAB

(D) =afer TE f&d 3 S '

ApPP-i

g97. Agraphthat displays dat@ that changes

continuously OVer periods of ume1s -
(A) bar graph
(B) pie chart

(©)
nAne graph

jstogram

gg. The human body has about 100 billion

cells, This number can pe written in
exponential formas -

(A) 10°

) 1011

(D) 10

99. Ramesh has three containers as below-

(a) Cyilndrlca\ container A having
radius r and height

(b) Cylindrlcal container 8 having
h
radius 2r and height 3 -
(c) Cuboidal container C having
dimensions r X h
The arrangement of the containers in

the increasing order of their volumes

is -

(A) A BC
(8) B,C A
() C,A/B

(E‘))/-%ﬁot be arranged




100. 3 B 06 FHR | g MER § qeeH
R, T HIGR HN I -

(A) @G &

(B) W 3mam &
(C) & e &

(D) T & s &

101, ﬁtﬂ‘%ﬁi O<p<q<r<s@oqn P, qr, s?ﬂ&i
€ P 8 3 o BreT &7

(A) P+q ®) p+s
q+r
g+s r+s
(C) p+r (D) ‘E‘:—q-
102. e R d a stk b &
14
a m
b

(A) USTR TR BT
(B) <M BT
(C) UHIaR I
(D) JER TH[@ BT
103. o fe & et & eramar ()
10, 6.5 T2 a &, 5767 a v Qi W 1 a

@ A A & T & -
(A) 3 (8)

APP-1

100. During conversion of a solid from one
shape to another, the volume of the
new shape will -

(A) Increase

(B) decrease

Mmaln unaltered

(D) bedoubled

101. Given that 0<p<q<r<sandp, q,r, s are '

integers, which of the following Is the

smallest?
+q p+s
Wl e
a+s r+s
(©) T (D) B

(A) alternate exterior angles

Wpundmg angles

(C) alternate interior angles
(D) vertically opposite angles
103. The sides of a triangle have lengths
(in em) 10, 6.5 and a, where a is a _
whole number. The minimum value that '
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_ 5% of (x-¥) then
| % (x+y) T 15%=(x y) @1 25% 8,y 104, 1 15% of (¥) = 2 5
® o=\A" . 2
| . ﬁlﬁ:ﬂ( Y oo x 6 aER B what percent of ¥ 1 equal t0 ¥
& x
| Z
l (A) 10% (A) AP
{ (8) 50%
\ (8) %
| S0 (C) 200%
| o °
\ {U:) ol (D) 400% ;
—— exceed
\ sm—g— ﬁ@tg’—a%ﬁ?ﬂﬂlﬂfﬁﬁ 105, By how much does 7/8
1 7/8° 8
" 6/7
_ 2? = ?
3
\ 3 ® 63
W 63
E 1
| @ 62 .® ©g <”
B -
1
7 1 © 7 3 ¢ 9
= T2 : gy
7 oo -
5
l (D) 7 g ‘_pr)/ 6 L
J e o lﬁnﬁ 3:1%: 3;:_ % 106. Ifthe sidesofa triangle are in the ratio ,"
" B 1% : 3—;— , then the triangle is - - -'ﬁ
gqua F Ea Pyt & - y
i
1€ 34" ) Right-angled triangle & ..
() wowm P 30 F 45 -
A ¢
() it Bt [\ . (we-angied triangle ""':!
’ﬁ"
g U
32
(C) e FrygaT bt (C) Acute-angled triangle K%




107. 7k ABCD s wita T @ Fore
£A=4xu| £B=7x°; £C=5YD

T D=y A, Fx:yenm-
(A) 3:4 (B) 4:3

© 5:4 (D) 4:5

108. fﬁaﬁ%&ﬂﬁmaﬂmé-

(A) Prpmer frfig

(B) 3R Rrifyg

Q) ITasR fisy

(D) Prpmer sy
109.nasaﬁﬁaﬁsﬁ.a§‘1?g&és‘rbtia‘fﬁm

m%Imﬂsmmﬁaq&mmﬁ
o T g -
b

(A =

b .
(B) S—a-ué

5b ..
© S =€

APP-1
107. IfABCD be a cyclic quadrilateral in which
LA=4x", £B=7x", £C=5y°
and 4D =y°, thenx :yis -

(A) 3:4 (B) 4:3

M;S

108. The name of the given solid In

/

(A) triangular pyramid

(C) 5:4

(B) Ctangular pyramid
C) rectangular prism
(D angular prism

109. A man walks ‘a' km. in 'p’ hours. The

time taken by him to walk 200 metres
Is -




1
l.
|

|

|

0.7 (2443) a =(2-¥3)b=1 &
1

1
F3h

= E -
(A) 1

| 2

© 243

o) 4
111.nmaﬁﬁigauﬁa€1mmuﬁa={és
Frr & T e @ -

(ny 11
B8 1:2
Y 2z 3
oy 23
112. Brefrfea & A frw anr @ dfisr sk

sate @ & wfia @ &

(A) X

(B) E

(€) M

() K
113.(100)*? x (0.001)** - (0.0016)"*

J%F)"a,mg_

3
(A) 1.6
(8) 10 _,lg’-f_.l..-m
(© 08 361 pie3

APP-1
110. If (2+43) @ o(2-43) 0 } theD
1 1
— -_— b.e -
the value of = + b will
(A 1
\V’
C 3
© 243 ty |
(D) 4 4 b :
111. The ratio of the number of sides of @ @J

re to the number of edges of a

squa

cube |5 - *._\,
: \
—~—% -J%
(A 1:1 1.353 B
B) bl & Y
s
€ 1:3 E'ﬁ o l:;,' 2
(D) 2:3 \ q,/ /i
112. Which of the following letters have both 1
horizontal and vertical lines of
symmetry?
M |
(B8) E —— .
2%\ 61
) M
e
(D) K

113. The value of (100)'? (0.001)** -

-1
0.0016)"* x3° « (2
( ) X 4\' is -

(A) 1.6

(8) 1.0




(C) 10%
(D) 12%

116. T Fa% w81 e vt gomi & whieeg
T W 5000 w1 By, -

(A) 5001
(B) 5499
(C) 5500
(D) 5999

117. 4z a, b, ¢, d, e dfa A oy wEwR
&, @ @ sitea 2 -

(A) a+4
(B) 5
(C) 5S(a+b+c+d+e)

abcde
(D) 5

SET-B

APP
114, I A - 114, Simplify -

L4 [1414{1414(14 12 2)}) 1:[1+1:+{1+1+(1+1+2)}]
l+l.’8+’l
. .of
(©) 3/4 w00
(C) 34 y (/%% /
e 1o (D) 5/8 7;

L15. Ifthe simple interest on 7 1 for 1 month

Is 1 paisa, then the rate percent pe }/
annum will be - 2

(A 6% ¥
(B) &%
(C) 10%

116. The greatest number which on

rounding off to nearest thousands gives
5000, is -

\(9/5001

(B) 5499
(C) 5500
(D) 5999
117. 1f a, b, c, d, e are five consecutive odd
numbers, then their average is-

(A) a+4

%

(C) S(a+b+c+d+e)

abcde
) ~—

R VH (RE
X‘qu \(sz 2]

M R ,,;7 \U
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118, T v Y e o LS L e
e T BEQRTAN W G W AR
&

(A) 2006 W WA waE. T NER IR

AT
(B) 2006 # T3 A FRY ST TSUDH

(€ Tedy remaal & FRE - 2005

(0) T fen Af-1986

119.@13%?:@&?#{?%%131\13&?{%3?!
wad i B Brefafaa A R ®A 0
g S W A TN 7
(A) Sia g, ddwiert, Fnra-aFm
qdtum
(B) wiflrm afan, Frra-oferer ade,
Fan @ i
(c) far e, afanfer, afiiarn, @en
@ wEnfirr

(D) wiEwifera, aRarsr, wra-afae
qRted

120. fora % gt & fre Prafafaa 4 @ 3
T Uew Javerd) TE &2

(A) Feim

(8) R 3t s
(C) wien ggki
() et

118. Present NCERT text bookS on
Mathematics are written keeping In mind

the recommendations of ----

[39]

119.

120.

APP -1

(A) Syllabus prescribed by CBSE In

2006

(B) Syllabus prescrlbed by State

Board In 2006
{Q/National Curriculum Framework -

2005
(D) National Policy on Education -1986

Which of the following strategies can

be used toO assess learners'

interest In and attitude to

mathematics?
(A) _Check List, portfolio, Paper Pencil
Test

(B) Oral Test, Paper Pencil Test Class
Participation

(C) Checklist, Portfolio, Project Class
Participation

(D) Portfolio, Project, Paper
Pencil Test

Which of the following is not a
contributing factor responsible for

Mathematics anxiety ?

(A) Gender

MUI‘E of Subject

(C) Examination System

(D) Curriculum

P'T.ol
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Environmental Studies
121, "aem v gl g g - 121. 'Fly Ash' Is the waste generated by:
(A) F@ T ofedveen (A) Hydropower plant
(B) e wrR wRdrn @ \(_B)/nfermal power plant
(© i oftdsen & (C) Geothermal plant

O) W (o fisy) @ (D) Windmills

122.nufamﬁmnhtwmmmqﬁz
TSHYH) Rer @

122. Centre for Environment Education |s

located at :
(A) 75 ferechh 4 (A) New Delh|
(B) 2w 3 () Dehradun
C) 3w
© # \(9/Ehmedabad
(D) texmEr 3§

(

123, 'mhmwﬁmﬁsﬁuﬁqﬁ@, 123. Which one
5w v & T T & objectives is not

(R) e v e wafaor 3 ofy
e R s

(B) Imme denres <iaet won Ryt
D S FET

(©) mﬂmtﬁu-mﬁm’r
LR R G

L

. . i
o - 3 . = =
7 : = 7w - I T N 2
{D i '<i-'"-"l;' ‘_E"I'“]Kr"-'."':i‘ "':vu" G -'-‘\ I
.'\_L-(_ L RN RN Ty LN [T L 2. 1,18 |

D) Hyderabad

of the following

required to teach

Environmental Studies?

(A) To develop sensitivity towards the

Physical and social environment

(B) A0 memorize basic scientific

concepts and principles

(C) To provide opportunities to explore

the environment

To develop skills like observation,

‘measurerr ent, prediction anc




1ﬁ.mﬁm$mm@ﬂmaﬂﬂ

[E?
(A) UNEP
(B) UNDP

(C) IEEP

(D) UNESCO
126, enfiew & g A & @R Fraer amn

T
(A) smifaar
(8) defiam
©
(0) sifi
7 ’ng:mmﬁ o) s i o
w P
o g & foe a1 a1 s
) s
B) 'ﬁEW
) 3w

| yﬁi

APP-1

rong abDUt

124. Which statement is W

envimnment?
(A) Environment is the group of

physical factors

fvironment alwaysre
comprises

(Zonal diversity)

main stable

B)
< Environment

regional diversity
(D) environment is control and

autotroph based

125. Which International organisation is for

environment education?
(\;ymfp
() UNDP

(C) IEEP
(D) UNESCO

126. Most poisonous byproduct during

plastic recycling is :

(A) Ammonia
(B) Cadmium
(C) Barium
(0)_Diokine.

127. In 1983, in Karnataka which movement
was started similar to ‘Chipko
Movement'?

(A) Appiko
(B) Pandurang

(c\))m{

(D) Gubbi

P.T.0.



128, ﬁnﬁ%nﬂqmﬂmmmm

128.

APP -1

Among the following which one is not

T8 the objective of environmental
i education?

(A) watazor & ofy Qe SR & (A) Create  awareness  for
(B) w¥a wd o s o sy environment

MR

(C) mﬁiﬂmnﬁﬁé’lmﬁmﬁmm
SR D R —

vironment
Mdemtand

(B) Understanding interrelationship of
humans with rest of world
(C) Develop actual understanding of

environmental
129, Wt ¢ Goligmarie
(A) 3 em (A) Producers
(B)  Fmvires (B) Consumers
(C)  vireprErd) (C) Herbivores
(D) 3mues

I30.mﬁﬂm%mg:

Mcomposer

130. Size of clouds de :
(A) 3Iar va awHT oy (A)  Height ang ::r::a:;:u're
(B) &1 & v qx (B) ~Direction of wingd
(C) amfawu o o3 (C) Evaporation cycle
(D) m &= R (D) Hygroscopic centre
131. ﬁqﬁéﬂmmﬁaﬂmwﬁﬁaﬁm 131,

S (ha®) & w0 # B5 waim Ry
ST &2

(A) TEDIET ST &1 I TR

Which of the following is used as

biological indicator of sulphur-dioxide
pollution?

(A) o (A) Bryophytes
(B) vlam@ (B) Algae
(C) wEmEm (C) udomonas
©) T (ﬁhen
132. 5/ @ I= sfes aiedem @ 9 132. What does water's high biological
e e &7

oxygen demand (BOD) indicate?

(B) WS wauor @ v =R
(C) IR U a5t Fryavedy
(D) & T

(A) High level of microbial pollution
@);an level of microbial pollution
(C) Absence of microbial pollution
(D) Wateris pure




e

€T-8

33, 7= A R TR evs Edem.) sfinfe
TEN TE 51 Hbal B?
(N) ﬁrmgm%ﬁHﬁWM'&i
HAUR W
() @an ¥ waifte ufefa
(C) e A ool Frerarn
(D) Hen ® WA @A, WA S vd
e W=t o
134, TUiERT HATA & Hewaqul fewor Ryt
AJ D R
(A)  waie et gl & At
eail
(B) IOTs FEH & WU ¥ qaiaor &
wam
(© wri A 3w Y W TEEd

(D) IWs T

135, faarff B ot & vafavor amags
WY 9EeR 27 ¥ dra wad &7
(A) emst 5 aras Rt |
(B) wafaworfael ¥ aradla
(C) wgfom, it vd aiepfim
R § sy
(D) IRrE ¥ & B T
136. TAROT FEAT I U e @ -

(A) mfam#wmmaﬁ%ﬁmﬂ#

(8) Wfammwﬁa&ﬁrrﬁma?

(C) mfama‘?mmméimmﬁ
§t ey 2

(D) IR wh

[43]

APP-1

133. Which of the following is considered a

motivated EVS class?

(A) Remedial work given by the
teacher

(B) Maximum attendance in the class

(C) Pin drop silence in the class

(l?) eéstioning, experimenting and
brain storming done in the class

134. One of the important pedagogical

principle of environmental studies is :

(A) Maximum use of environment
related books

(B) _Se of environment as learning
resource

(C) Maximum homework to
students
(D) All the above

135. In which condition students can best
learn environmental education?
(A) Excellent teaching in classrooms

(B) Talking with environmentalists

Mosing them to natural,

social & cultural environment
(D) None of the above

136. Environmental education help us to
realize :
(A) Environment conservation is
Govermment responsibility
(B) Environment conservatian is
nature's responsibility
(C) Afong

with Government,

environment conservation is our

responsibility as well
(D) Al of the above



u7.whmmm&sngaqzq?:

(A)  vafaRor Rrar oy R

(D) Tsit W
139, ﬂ‘?ﬁaaﬂffﬁpHﬂ:
(A) 5.6 % 3tfere

(B) ?.o%mams.s%aﬁzas
(C) 56Xy

(D) 7.0 3 3frs
140. ¥R @ T s o 2
(A) &R 9 amen TR
(B) 3ifiers Reer efeq
(C) T F = awht Sfafey
(D) T yarit ufdame
141. 3FRig Sta Rifdear Raw womr s &

(A) 22 ORa &

APP -1

137. Main aspects of environmental

138.

139,

140,

141,

education are :

(A) Environmental Education &
Conservation

Mgnltion, Affect & Behaviour

(C) Ethics and Culture

(D) Ecology and Development

Trees help in reducing the pollution of

our environment, Lakhs of trees are

Planted by People in the month of July

every year, The occasion is called -

(A) Forest Conservation Day

(B) Plantation Month

(©) _~an Mahotsay

(D)  Wildiife Week

PH of Acid rain is:

(A) More than 5.6

(B) Less than 7.0 and more than 5.6

(Q) ess than 5.6 -

(D) More than 7.0

National aquatic animal of India js -

(A) Saltwater Crocodile

(B) Olive Ridley Turtle

_({:/Gangetic Dolphin

(D) Gangetic Gharial
International Blodiversity Day is
celebrated on

(A) 22 February
(B) 22 March

(©) 22Apri

_Q/zzuw
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APP-1
ird of which
), AT TR A TG el &7 142. Monal is a National BIf
42.
1 country ?
(A) MTead (A) Andia
(8) W™ (B) Bhutan
\ (C) U (C) Nepal
I GEnIG D) Pakistan
i = of vertebrates
'\ ol e § oftman | 143 Which  9To8P :
| 143, F= B} I R o morises the highest ~amilier 4
‘r . = o endangered species? |
(A) wER (A) Birds
\ (8 == (B Vammals
© \ (C) Fishes
\ (D) woEE (D) Reptiles
|l 144, Tiesy 70 TR0 ¢ 144. Ginkgo is known as : |
(n) Ffea Fraem Mlng fossil |
(B) wefl (B) Bird
(c) sl (C) Animal
; D) e (D) Reptile
' 145, g smeda fagrE) 3 @ @fF, S & @) 145

. Which ancient Indian scholar claimed
& Y5761 @I Fihers AT arp that termite mounds were indicators of

groundwater?
(A) @UIE (A) Kanad
) ((cﬂ) o (B) @arga
| {DJ) arTefufer (C) Varahamihira
. mﬁmiwf qi; N (D) Bhashkaracharya
K ) ;l:&mﬁﬁ:‘ﬂﬂﬁai 146. Which Indian religious sect has the
g ORI traditions for saving Black Bucks?
- wmm (A) Arya Samajists
= (Q}/B:’sﬁ-\‘ols
ks
o ;‘Fﬁ I (C) Vaishnavas

(D) Shaivaites




147, -39 3§ qude wi| & ey 3
et ool o g wR W e fem 82

(A) TR
(B) H=

(@ @@ (i)
(D) =fF=1 fimm

ias.mmmmﬁwwﬁrﬁa‘lﬁ
St it @

(A) =nfEmi

(B) Tias

(C) s

(B) Sfaw gfye 3

APP-1

hawls In
The business of Pashmina S
147,

ild animal?
scale exploitation of which wild

(C) Rabbit

,j?i/ Barking Deer

148. Which constitutes a major part of
Antarctica Vegetation?

(A) Shrubs
(B) Mosses

(C) Grasses

Mchens

149. Which of the following is an endemic
species of India?

Msian elephant

(B) Lion Talled Macaque
(C) Whales

(D) Panda

150. The 'thickness' of stratospheric Ozone
layeris measured in :
(A) Centimeter
(B) Dobson unit

(C) Decibel (dB)
(D) NTU




